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  ا:�1��ء '1���8 ور�� ا�1
��� ,�وري
 ;�<=> ?@ ?<� ����

دي ,�ورة @�1'� ا����6ت ا��  


د�� ,�ورة �  <Dط�� ا����6ت ا�
���� وا��B�<=1ت ا�

  
  ) )Bط  7( ا�	����ء 

�=� ا�	1? ا������ ( :  

 
M(H) 1,0g / mol , M(C) 12,0g / mol , M(O) 16g / mol ,

M(Cu) 56,0g / mol; M(A ) 27,0g / mol M(P) 31,0g / mol , M(N) 14g / mol

= = =
= = = =ℓ  

��23د أ����درو  1
AN 6,03 10 mol−= ×  ، �������PV#"� ا�!�زات ا nRT=  .  

3R 8,31Pa.m / mol.K=  و ������T&�%$� ا�!�زات ا 273= + °θ  أن ()*T  و +,�)���%°θ س�.�).��%  

   1ا�0���1 
3*�3?� �<=وب ;�زي �89د إ�6 و�5د ��دة *23 ا�,�1,�ر0/  4H PO  . @)�A9 �B�1ℓ  6�� ي�$A0 CDأ �ED 3<=وب��+ ھFا ا

35 10 mol−×  /01,�ر�,�  . �+ *23 ا
J� �)D�D�" �K% :0,60g ا�3<=و%�ت ا�!�ز�0 ھ�I.D  J *23 ا�,�1,�ر0/ ا��3.3ح  / L  ,  

1  �I.B�0,60gــ ا / L  @P39 : J�$���3�J ــ ا�$=�(Q ا��$�� ا�3EA(� ــ ا�$=�(Q ا�  ا

 R)AS�  )  0,25( . اT$= ا��Eاب ا
   ) 1( ــ أ*.V �$�� *23 ا�,�1,�ر0/ ا��5�3دة �J ھFا ا�3<=وب ا�!�زي  2
  ) 0,25 (ــ ھ@ ھFا ا�3<=وب "�JD�D ؟ ��@ �5ا%/  3

   2ا�0���1 
 6�)$9��ن �+ ا��ABس  B)� 6�� =��$D1E$(+ ، اYوCu(  �)D�P����B(�م  2EواYا +�Aℓ  ��$���D �3K,\ ا ،m  .  

 �B)8�1nھ3�1E  J(� ا��3دة ا��E3دة �J ا 0,4mol=   

  ) (0,5 ــ أ*.V �$�� ا��B)8 �+ ا��ABس  1
  ) 0,5(ــ �� ھ� ��د درات ا��ABس ا��5�3دة �J ھFه ا��B)8 ؟  2
���B(�م ا��5�3دة �(�K ؟  2Eا��5�3دة �J ا�2n  �B)8ــ �� ھJ �3(� ا��3دة  3Y1(؟ و�� ھ� ��د درات ا(  

   3ا�0���1 
 +)$B)B" 6�� =��$DA  وB  J��3K3E* AV ��6 ا�$�ا 1L=  وBV 4L=  @3K� ^E* ب ذي�ID`� +)$�S$� ) @�>�  �J ) أbD= ا

 �B)Bd�  ;�ز &A9  Je�B$�ي ����B 6ر;� ، %(�3B ا�A  �B)Bdا��Iا�0 ا
0در�5 *=ار2N ،�B�  C9  اYزوت C° و fA9 5  ?!طP 1,01325 10 Pa= ×  .  

 Yأن ;�ز ا =I$8D زوت @���  .  
1 Yا Je�B& 3(� ��دة ;�ز� V.*زوتــ أ �B)Bd�   ا�$A9 J$�ي ��(�K ا
B  C$�$� h$B$11( . وا (   
�FKا ا�!�ز �J ا�<=وط ا�$I0=E(� ــ  2 J��3���ر�5 أ*.V ا�EA^ ا  

  )0,5(ا�A=ارة وا�j!ط  
   k,$ADR %�ر�5 ا�A=ارة &�%$� وR$,D ا��IBSر ــ  3
�� ا�e�KB(� ا�j!ط  1ــ  3�A�Pأ*.J� V ا '  +)$B)Bd�  J� (1) ا
  (1)�3(� ��دة ;�ز &Je�B اYزوت ��B)B" @� J  أ*.V  2ــ  3
  
  
  
  
  
  
 
  

1 



  ) )B=�  13( ا������ء 
�>� ا�1

ي :  1ا�0���1 �  LMD(g 10N / kg=  )7  طB((  

 �K$�$� �)ط,�ل �+ ر�Yا �I8�$9��ن m 2kg=  @�>�1(30��KB اnQDoق ��6 1�� �J� ��P3 ا ( C�,16 . أ��K9ف ھFه ا���I8 إ

 �)�=�  .  6��C أ�1س أن S9@ إ�6 ا��Kف ا��5�3د �J ا��A  �rdB+ ا�(S)  �rdBد�q ا

  
  
  
  
  
  
  
  
  
  
  
  

 +)eQ5 +� ��.�$9��ن ا :  
J3)d$.�1AB أ�Jd ط��AC  Cا�QEء  0,5m= =ℓ  2وBC 1,5m= =ℓ  

rوO  C��8uداe=ي �=�Qه  CDا�QEء  1m=   
  ABــ درا!� �N@� ا����� �� ا���ء  1

 �rdB��K)�� wIr0 ،F ا�#�V "�ة &�%$�  oBط#ق ا�=�(� �+ ا
�

0��ن زاو�0   �Kھ�E930اα = °  Jd�Y3.$�ى ا�وq�AB �K9�u ا

F 10N=  3.�ر�����ت %(+ ا�I$8D ()*  ^.E= أن ا�d$.� ��=A(3(� وأن TAB#ل ا$*n)اSء  (QE���dة  ABو ا �y����f
�

 �K9�uf 0,66N= . �rdB�I$8DA   ���8B�Av= أن 1=�� ا�=�(� �J ا 0=   

   AB (0,25)أ5=د ا��dى ا��dIr3 ��6 ا�=�(� �J ا�QEء  1ــ  1
��K �+  2ــ  1�d$Dل ا#T �)�=���  Bإ�A 6أو�3E� =)I89 �5ع أu!�ل ا��dى ا��dIr3 ��6 اn�%F  وf  1وℓ  وα   .(1) 

CEأ*.I� w)Ir$%AB  ، V=ھ�B ا��r"� ا�T �)�=A#ل ا�d$Dnل  3ــ  1 (B)�rdB���=�(� �J ا �)�=A�    B  (1)  ا��r"� ا

  .  BCــ درا!� �N@� ا����� ��( ا���ء  2

CEط�"$�K ا�B  �)�=Aإ�6 ا��rdB  ا�=�(���B و}�ل  (B)  ،  ة�d�FA0Fف ا�#�V 9`&(= ا
�

 q%�$BC ا�=�(� *=�$�K ��6 ا�QEء $� 

����ت 9���| ا��dة $*nأن ا ()*f '
�

  �K9�uf ����ت ?J� �,)8 ھFا ا�QEء  10/$*n8@ اE��Qج  @e�1 و�5د �E)$D .   

�C  Jا��rdB إ�6 ا�$�K% @S9 J ا�=�(�  Cv%(+ أن I89(= ا�.=��  1ــ  2�$��� Jھ :( )C C 2

2
v E (B) 0,1 f.

m
= − × ℓ)1(  

  
  )  0,25( . أ*.V "(�3 ھFه ا�.=��  2ــ  2
   CDــ درا!� �N@� ا����� �� ا���ء  3

 �)�=��(�K$�=*CD  ��=.% @S %�ون ا*$��ك ��6 ا�QEء  q%�$9(S) اv  �rdB��3�833 %��QاوM  �0إ�6 ا�  .  θا

��  θأوI89 �5(= ا�Qاو�0  1ــ  3n�%Cv  وv  وg  وr  )1(  

�3�83 %��Qاو�0  2ــ  3� �rdD �B� �"�$9 �)�=���  �J ھ�ه maxθأو�5 "(�3 ا�Qاو�3��maxθ  , �0 أن ا�A�  )1(. ا

Cأو�5 ا��r"� ا�A=�(�  3ــ  3 maxE (B)  ف�K��S9 J@ ا�=�(� ا�D  ة�d�maxFا�u h$B$1ة ا
�

  6�� V�#�ا��dIr3 �+ ط=ف ا

 �rdB�  ) A  . )1,5ا�=�(� ��B إط#"�K �+ ا
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  ))Bط  6( درا!� �N@� دوران ��ر,� '�ا!=� �
�ك :  2ا�0���1 

4WP"�رA�M  �$%�& C9=ك  AB  �K$�$� �.D�E$�m%�ا8ED C$r1@ ��ر?�  = 0,9kg=  �K��9ور *�ل ��Aر  40cm=ℓوط�

 f%�&( ���A3ر .  �S" Q�=� +� =30Gرھ�  ∆( �I.B�)�Qم "�Sر ا��8ر?� %� 21: ھ�  ∆(
J m

12∆ = ℓ  ) @�>�  ) 1ا

 ��=.�  ا�Qاو�0 ��وران�J �=*�� أو�6 9$!(= ا

)ا��8ر?� *�ل ��Aر ا��وران   )∆  �I.B��%  

 @�>�2��V.* +�Q ا�6BAB3 ا�J� @P33 ا .  
  �bA���B�1t ا 100s= �0اوQ�  RIS9 ا�.=�� ا

 1 45tr / minω =   

��*�ة  1ωــ أ*.V ا�.=�� ا�Qاو�0  1�%  

rad / s  )0,75 (  
2  �rdD =I$8D ــM  �8% 6�� �5�9  

GM / 4= ℓ  +�G  �bA��   1tأ*.�B� V ا

 �)r��Mا�.=�� ا 1v (t ) �rdB��M )1 (  

  وا�$=دد 1ωــ أ�ط ا�8#"� %(+ ا�.=�� ا�Qاو�0  3

 1N  �8ر?� *�ل���وران ا( )∆  .(1)   

4  �bA�����8ر?� ��B ا �)�=A��1t  Jــ %(+ أن I89(= ا��r"� ا�$��@ ا>�0�$V ��6 ا :
2 2 2

1
C 1

m N
E (t )

6

π
=
ℓ

 )1,5(   

5 A���1N  J%(+ أن I89(= ا�$=دد  1tو  b +)$0tــ %$I� w)Ir=ھ�B ا��r"� ا�A=�(� ��6 ا��8ر?� %(+ ا�$��@ ا>�0�$V ��6 ا :

1
1

6 t1
N

m

P
=

πℓ
 V.*1واN  )1,75 (   

  

3 




